MOUNTAINS AND DESERTS
PYRENEES

Name: Class: Date:

Click or tick the correct answer

1) The Pyrenees is located in
a) Northwestern Europe
b) Eastern Europe
c) Southwestern Europe

2) The Pyrenees chain act as a boundary between which two countries?
a) France and England
b) Spain and France
c) Spain and England

3) What fraction of the mountain lies in spain?
a) Half
b) One-quarter
c) Two-thirds

4) How long does Pyrenees extend?
a) 435km
b) 892 km
c) 293 km

5) What’s the surface area covered by the Pyrenees?
a) 55,400 sq km
b) 92,284 sq km
c) 12,391 sq km

6) The Pyrenees chain is divisible into how many sections?
a) 2
b) 3
c) 4

7) Which of these is NOT a section of the Pyrenees chain?
a) Western
b) Eastern
¢) Northern

8) Which section has the lowest altitudes of the chain?
a) Western sections
b) Central sections
c) Eastern sections

9) Which section contains the highest peaks of the system?
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a) Western sections
b) Central sections
c) Eastern sections

10) Which point is the highest in the chain?
a) Monte Perdido
b) Vignemale
c) Pico de Aneto

11) The summits of the eastern Pyrenees extend to the
a) Mediterranean
b) Bay of Biscay
¢) Cantabrian Mountains

12) The eastern half of the Pyrenees is composed mainly of
a) Granite
b) Limestone
c) Chalk

13) In the western half, the lower slopes are made up of
a) Gneiss
b) Limestone
c) Chalk

14) In which side is vegetation mostly developed?
a) The north
b) The east
c) The west

15) In which sections are the mountains almost entirely barren?
a) The north
b) The east
c) The west
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MOUNTAINS AND DESERTS
PYRENEES

Name: Class: Date:

Click or tick the correct answer

1) The Pyrenees is located in
a) Northwestern Europe
b) Eastern Europe
¢) Southwestern Europe

2) The Pyrenees chain act as a boundary between which two countries?
a) France and England
b) Spain and France
c) Spain and England

3) What fraction of the mountain lies in spain?
a) Half
b) One-quarter
¢) Two-thirds

4) How long does Pyrenees extend?
a) 435 km
b) 892 km
c) 293 km

5) What’s the surface area covered by the Pyrenees?
a) 55,400 sgq km
b) 92,284 sq km
c) 12,391 sq km

6) The Pyrenees chain is divisible into how many sections?
a) 2
b) 3
c) 4

7) Which of these is NOT a section of the Pyrenees chain?
a) Western
b) Eastern
¢) Northern

8) Which section has the lowest altitudes of the chain?
a) Western sections
b) Central sections
c) Eastern sections

9) Which section contains the highest peaks of the system?
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a) Western sections
b) Central sections
c) Eastern sections

10) Which point is the highest in the chain?
a) Monte Perdido
b) Vignemale
c) Pico de Aneto

11) The summits of the eastern Pyrenees extend to the
a) Mediterranean
b) Bay of Biscay
¢) Cantabrian Mountains

12) The eastern half of the Pyrenees is composed mainly of
a) Granite
b) Limestone
c) Chalk

13) In the western half, the lower slopes are made up of
a) Gneiss
b) Limestone
c) Chalk

14) In which side is vegetation mostly developed?
a) The north
b) The east
c) The west

15) In which sections are the mountains almost entirely barren?
a) The north
b) The east
c) The west
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